PROJECT: 19471 - ASPEN GROUP - SOMMET **BLANC - TOWER C - UNIT C702 - TYPE M**

DIVISION: TILE DATE: 10/26/2022

CLIENT PROJECT ADDRESS

> 9300 Marsac Avenue Park City, UT 84060

julia.c@earthelements.com

PREPARED BY

Julia Chuang

ROOM: 706 - POWDER ROOM

SPACE: 706 - POWDER ROOM

Aspen Group

FINISH AREA	MANUFACTURER	ITEM	NET	GROSS	UoM	PRICE	TOTAL
Base - Tile - Field - Base		Masterplan, Precious Ivory, Grip, 12" x 24" x 3/8", Porcelain Field Notes: 21LF Quantity adjusted due to boxing of 13.56 SQFT per container. Remarks: Lead Time is 2-4 weeks.	10.26	13.56	× SQFT	\$4.15	\$56.27
Floor - Tile - Field - Floor		Masterplan, Precious Ivory, Grip, 12" x 24" x 3/8", Porcelain Field Notes: Grout: Minimal Layout: Running Bond Quantity adjusted due to boxing of 13.56 SQFT per container. Remarks: Lead Time is 2-4 weeks.	45.46	54.24	× SQFT	\$4.15	\$225.10

SPACE: 706.1 - SHOWER

Wall - NORTH - Tile - Field - North Wall	Forte, Beige Gobi, Matte, 3 1/2" x 14 1/2" x 3/8", Porcelain Field Notes: Grout: Minimal Layout: Vertical Stack Remarks: Lead Time is 13-15 weeks.	38.81	44.63	x SQFT	\$7.32	\$326.70
Wall - SOUTH - Tile - Field - South Wall	Forte, Beige Gobi, Matte, 3 1/2" x 14 1/2" x 3/8", Porcelain Field Notes: Grout: Minimal Layout: Vertical Stack Remarks: Lead Time is 13-15 weeks.	38.81	44.63	x SQFT	\$7.32	\$326.70
Wall - EAST - Tile - Field - East Wall	Forte, Beige Gobi, Matte, 3 1/2" x 14 1/2" x 3/8", Porcelain Field Notes: Grout: Minimal Layout: Vertical Stack Remarks: Lead Time is 13-15 weeks.	33.01	37.96	x SQFT	\$7.32	\$277.88
Floor - Tile - Field - Shower Pan	Masterplan, Precious Ivory, Grip, 12" x 24" x 3/8", Porcelain Field Notes: Grout: Minimal Layout: Running Bond Remarks: Lead Time is 2-4 weeks.	14.48	16.65	x SQFT	\$4.15	\$69.11

ROOM: 708 - GUEST BATHROOM (1)

SPACE: 708 - GUEST BATHROOM (1)

FINISH AREA	MANUFACTURER	ITEM	NET	GROSS	UoM	PRICE	TOTAL
Floor - Tile - Field - Floor		Bosphorus, Honed, 12" x 24" x 3/8", Limestone Field Notes: Grout: Minimal Layout: Running Bond Remarks: Lead Time is 2-4 weeks.	88.71	102.02	× SQFT	\$14.02	\$1,430.27
Wall - NORTH - Tile - Field - North Vanity Wall		Silver Travertine, Honed & Filled, V/C 12" x 24" x 3/8", Field Notes: Grout: Minimal, Layout: Horizontal Stacked Quantity adjusted due to boxing of 2 SQFT per container. Remarks:	16.74	20	× SQFT	\$14.33	\$286.60

PCTILE-50995

(VER 02)

	i					i	i
		Lead Time is 8-9 weeks.					
Wall - WEST - Tile - Field - West Vanity Wall		Silver Travertine, Honed & Filled, V/C 12" x 24" x 3/8", Field Notes: Grout: Minimal, Layout: Horizontal Stacked	77.12	88.69	× SQFT	\$14.33	\$1,270.90
		Remarks: Lead Time is 8-9 weeks.					
Base - Tile - Field - Base		Bosphorus, Honed, 12" x 24" x 3/8", Limestone Field Notes: 17LF	8.46	10	× SQFT	\$14.02	\$140.20
		Quantity adjusted due to boxing of 10 SQFT per container. Remarks: Lead Time is 2-4 weeks.					
SPACE: 708.1 - SH	OWER		1			I	l.
Floor - Tile - Field - Shower pan		Bosphorus, Honed, 12" x 24" x 3/8", Limestone Field Notes: Grout: Minimal Layout: Running Bond Remarks: Lead Time is 2-4 weeks.	22.12	25.7	x SQFT	\$14.02	\$360.38
Wall - NORTH - Tile -		Silver Travertine, Honed & Filled, V/C 12" x 24" x 3/8", Field	33.74	38.99	× SQFT	\$14.33	\$558.76
Field - North Wall		Notes: Grout: Minimal, Layout: Horizontal Stacked Remarks: Lead Time is 8-9 weeks.				*******	*******
Wall - WEST - Tile - Field - West Wall		Silver Travertine, Honed & Filled, V/C 12" x 24" x 3/8", Field Notes: Grout: Minimal, Layout: Horizontal Stacked Quantity adjusted due to boxing of 2 SQFT per container. Remarks: Lead Time is 8-9 weeks.	55.93	64.32	× SQFT	\$14.33	\$921.70
Wall - EAST - Tile - Field - East Wall		Silver Travertine, Honed & Filled, V/C 12" x 24" x 3/8", Field Notes: Grout: Minimal, Layout: Horizontal Stacked Quantity adjusted due to boxing of 2 SQFT per container. Remarks: Lead Time is 8-9 weeks.	57.36	66	× SQFT	\$14.33	\$945.78
SPACE: 708.1 - W/	C (TOILET 1)						
Floor - Tile - Field -		Bosphorus, Honed, 12" x 24" x 3/8", Limestone Field	22.13	30	× SQFT	\$14.02	\$420.60
Floor		Notes: Grout: Minimal Layout: Running Bond Quantity adjusted due to boxing of 10 SQFT per container. Remarks: Lead Time is 2-4 weeks.					
Base - Tile - Field - Base		Bosphorus, Honed, 12" x 24" x 3/8", Limestone Field Notes: 16LF Quantity adjusted due to boxing of 10 SQFT per container. Remarks: Lead Time is 2-4 weeks.	8.14	10	× SQFT	\$14.02	\$140.20
ROOM: 709 - L	AUNDRY						<u> </u>
SPACE: 709 - LAUI	NDRY						
FINISH AREA	MANUFACTURER	ITEM	NET	GROSS	UoM	PRICE	TOTAL
Floor - Tile - Field - Floor		Masterplan, Precious Ivory, Grip, 12" x 24" x 3/8", Porcelain Field Notes: Grout: Minimal Layout: Running Bond	64.99	74.74	× SQFT	\$4.15	\$310.16
		Remarks: Lead Time is 2-4 weeks.					
SPACE: 709.1 - ST	ORAGE						
Floor - Tile - Field - Floor		Masterplan, Precious Ivory, Grip, 12" x 24" x 3/8", Porcelain Field Notes: Grout: Minimal Layout: Running Bond Remarks:	4.79	5.51	× SQFT	\$4.15	\$22.86

PCTILE-50995

(VER 02)

		Leadtime is 2-4 wekks					
ROOM: 711 - G	UEST BATHRO	OOM (3)				1	ı
	ST BATHROOM (3)						
FINISH AREA	MANUFACTURER	ITEM	NET	GROSS	UoM	PRICE	TOTAL
Floor - Tile - Field - Floor		Masterplan, Precious Ivory, Grip, 12" x 24" x 3/8", Porcelain Field Notes: Grout: Minimal Layout: Running Bond Quantity adjusted due to boxing of 13.56 SQFT per container. Remarks: Lead Time is 2-4 weeks.	68.82	81.36	× SQFT	\$4.15	\$337.64
Base - Tile - Field - Base		Masterplan, Precious Ivory, Grip, 12" x 24" x 3/8", Porcelain Field Notes: 24LF Remarks: Lead Time is 2-4 weeks.	11.93	13.72	× SQFT	\$4.15	\$56.94
SPACE: 711.1 - SH	IOWER						
Floor - Tile - Field - Shower Pan		Masterplan, Precious Ivory, Grip, 12" x 24" x 3/8", Porcelain Field Notes: Grout: Minimal Layout: Running Bond Remarks: Lead Time is 2-4 weeks.	18.12	20.84	× SQFT	\$4.15	\$86.48
Wall - EAST - Tile - Field - East Wall		Forte, Beige Gobi, Matte, 3 1/2" x 14 1/2" x 3/8", Porcelain Field Notes: Grout: Minimal Layout: Vertical Stack Quantity adjusted due to boxing of 6.92 SQFT per container. Remarks: Lead Time is 13-15 weeks.	47.25	55.36	× SQFT	\$7.32	\$405.24
Wall - WEST - Tile - Field - West Wall		Forte, Beige Gobi, Matte, 3 1/2" x 14 1/2" x 3/8", Porcelain Field Notes: Grout: Minimal Layout: Vertical Stack Quantity adjusted due to boxing of 6.92 SQFT per container. Remarks: Lead Time is 13-15 weeks.	47.25	55.36	× SQFT	\$7.32	\$405.24
Wall - SOUTH - Tile - Field - South Wall		Forte, Beige Gobi, Matte, 3 1/2" x 14 1/2" x 3/8", Porcelain Field Notes: Grout: Minimal Layout: Vertical Stack Remarks: Lead Time is 13-15 weeks.	36.23	41.66	× SQFT	\$7.32	\$304.98
SPACE: 712 - W/C	(TOILET 3)					-	!
Floor - Tile - Field - Floor		Masterplan, Precious Ivory, Grip, 12" x 24" x 3/8", Porcelain Field Notes: Grout: Minimal Layout: Running Bond Remarks: Lead Time is 2-4 weeks.	18.28	21.02	× SQFT	\$4.15	\$87.24
Base - Tile - Field - Base		Masterplan, Precious Ivory, Grip, 12" x 24" x 3/8", Porcelain Field Notes: 14LF Remarks: Lead Time is 2-4 weeks.	7.1	8.16	× SQFT	\$4.15	\$33.88
	GUEST BATHRO ST BATHROOM (4)	POM (4)	<u> </u>			1	<u> </u>
FINISH AREA	MANUFACTURER	ITEM	NET	GROSS	UoM	PRICE	TOTAL
Floor - Tile - Field - Floor		Masterplan, Precious Ivory, Grip, 12" x 24" x 3/8", Porcelain Field Notes: Grout: Minimal Layout: Running Bond Quantity adjusted due to boxing of 13.56 SQFT per container. Remarks: Lead Time is 2-4 weeks.	69.25	81.36	× SQFT	\$4.15	\$337.64

PCTILE-50995

(VER 02)

Base - Tile - Field - Base	Masterplan, Precious Ivory, Grip, 12" x 24" x 3/8", Porcelain Field Notes: 24LF Quantity adjusted due to boxing of 13.56 SQFT per container. Remarks: Lead Time is 2-4 weeks.	10.9	13.56	× SQFT	\$4.15	\$56.27
SPACE: 717 - W/C (7	OILET 4)					
Floor - Tile - Field - Floor	Masterplan, Precious Ivory, Grip, 12" x 24" x 3/8", Porcelain Field Notes: Grout: Minimal Layout: Running Bond Remarks: Lead Time is 2-4 weeks.	19.09	21.95	× SQFT	\$4.15	\$91.11
Base - Tile - Field - Base	Masterplan, Precious Ivory, Grip, 12" x 24" x 3/8", Porcelain Field Notes: 14.5LF Remarks: Lead Time is 2-4 weeks.	6.59	7.58	x SQFT	\$4.15	\$31.45
SPACE: 718.1 - SHO	WER	-			•	•
Floor - Tile - Field - Shower Pan	Masterplan, Precious Ivory, Grip, 12" x 24" x 3/8", Porcelain Field Notes: Grout: Minimal Layout: Running Bond Remarks: Lead Time is 2-4 weeks.	19.98	22.98	x SQFT	\$4.15	\$95.35
Wall - SOUTH - Tile - Field - South Wall	Forte, Beige Gobi, Matte, 3 1/2" x 14 1/2" x 3/8", Porcelain Field Notes: Grout: Minimal Layout: Vertical Stack Remarks: Lead Time is 13-15 weeks.	36.23	41.66	× SQFT	\$7.32	\$304.98
Wall - EAST - Tile - Field - East Wall	Forte, Beige Gobi, Matte, 3 1/2" x 14 1/2" x 3/8", Porcelain Field Notes: Grout: Minimal Layout: Vertical Stack Quantity adjusted due to boxing of 6.92 SQFT per container. Remarks: Lead Time is 13-15 weeks.	47.25	55.36	x SQFT	\$7.32	\$405.24
Wall - WEST - Tile - Field - West Wall	Forte, Beige Gobi, Matte, 3 1/2" x 14 1/2" x 3/8", Porcelain Field Notes: Grout: Minimal Layout: Vertical Stack Quantity adjusted due to boxing of 6.92 SQFT per container. Remarks: Lead Time is 13-15 weeks.	47.25	55.36	× SQFT	\$7.32	\$405.24

ROOM: 719 - GUEST BATHROOM (5)

FINISH AREA	MANUFACTURER	ITEM	NET	GROSS	UoM	PRICE	TOTAL
Floor - Tile - Field - Floor		Masterplan, Precious Ivory, Grip, 12" x 24" x 3/8", Porcelain Field Notes: Grout: Minimal Layout: Running Bond Quantity adjusted due to boxing of 13.56 SQFT per container. Remarks: Lead Time is 2-4 weeks.	34.38	40.68	× SQFT	\$4.15	\$168.82
Base - Tile - Field - Base		Masterplan, Precious Ivory, Grip, 12" x 24" x 3/8", Porcelain Field Notes: 19LF Remarks: Lead Time is 2-4 weeks.	9.37	13.04	× SQFT	\$4.15	\$54.12
SPACE: 719.1 - W/C							
Floor - Tile - Field - Floor		Masterplan, Precious Ivory, Grip, 12" x 24" x 3/8", Porcelain Field Notes: Grout: Minimal Layout: Running Bond Remarks: Lead Time is 2-4 weeks.	20.58	23.67	× SQFT	\$4.15	\$98.22
Base - Tile - Field -		Masterplan, Precious Ivory, Grip, 12" x 24" x 3/8", Porcelain Field	5.56	6.39	× SQFT	\$4.15	\$26.54

PCTILE-50995

(VER 02)

Base	Notes: 11LF Remarks: Lead Time is 2-4 weeks.					
SPACE: 719.2 - SHOWER						
Floor - Tile - Field - Shower Pan	Masterplan, Precious Ivory, Grip, 12" x 24" x 3/8", Porcelain Field Notes: Grout: Minimal Layout: Running Bond Remarks: Lead Time is 2-4 weeks.	13.12	15.09	× SQFT	\$4.15	\$62.62
Wall - WEST - Tile - Field - West Wall	Forte, Beige Gobi, Matte, 3 1/2" x 14 1/2" x 3/8", Porcelain Field Notes: Grout: Minimal Layout: Vertical Stack Remarks: Lead Time is 13-15 weeks.	32.28	37.12	x SQFT	\$7.32	\$271.73
Wall - EAST - Tile - Field - East Wall	Forte, Beige Gobi, Matte, 3 1/2" x 14 1/2" x 3/8", Porcelain Field Notes: Grout: Minimal Layout: Vertical Stack Remarks: Lead Time is 13-15 weeks.	32.28	37.12	× SQFT	\$7.32	\$271.73
Wall - NORTH - Tile - Field - North Wall	Forte, Beige Gobi, Matte, 3 1/2" x 14 1/2" x 3/8", Porcelain Field Notes: Grout: Minimal Layout: Vertical Stack Remarks: Lead Time is 13-15 weeks.	34.5	39.68	× SQFT	\$7.32	\$290.42

ROOM: 723 - GUEST BATHROOM (2)

SPACE: 723 - GUEST BATHROOM (2)

FINISH AREA	MANUFACTURER	ITEM	NET	GROSS	UoM	PRICE	TOTAL
Floor - Tile - Field - Floor		Masterplan, Precious Ivory, Grip, 12" x 24" x 3/8", Porcelain Field Notes: Grout: Minimal Layout: Running Bond Remarks: Lead Time is 2-4 weeks.	72.77	83.69	× SQFT	\$4.15	\$347.29
Base - Tile - Field - Base		Masterplan, Precious Ivory, Grip, 12" x 24" x 3/8", Porcelain Field Notes: 23LF Quantity adjusted due to boxing of 13.56 SQFT per container. Remarks: Lead Time is 2-4 weeks.	11.11	13.56	x SQFT	\$4.15	\$56.27

SPACE: 723.1 - SHOWER

Floor - Tile - Field - Shower Pan	Masterplan, Precious Ivory, Grip, 12" x 24" x 3/8", Porcelain Field Notes: Grout: Minimal Layout: Running Bond Remarks: Lead Time is 2-4 weeks.	19.23	22.11	× SQFT	\$4.15	\$91.78
Wall - SOUTH - Tile - Field - South Wall	Forte, Beige Gobi, Matte, 3 1/2" x 14 1/2" x 3/8", Porcelain Field Notes: Grout: Minimal Layout: Vertical Stack Remarks: Lead Time is 13-15 weeks.	37.96	43.65	x SQFT	\$7.32	\$319.55
Wall - EAST - Tile - Field - East Wall	Forte, Beige Gobi, Matte, 3 1/2" x 14 1/2" x 3/8", Porcelain Field Notes: Grout: Minimal Layout: Vertical Stack Remarks: Lead Time is 13-15 weeks.	47.12	55.17	x SQFT	\$7.32	\$403.81
Wall - WEST - Tile - Field - West Wall	Forte, Beige Gobi, Matte, 3 1/2" x 14 1/2" x 3/8", Porcelain Field Notes: Grout: Minimal Layout: Vertical Stack Quantity adjusted due to boxing of 6.92 SQFT per container. Remarks: Lead Time is 13-15 weeks.	47.12	54.19	x SQFT	\$7.32	\$396.66



PCTILE-50995

(VER 02)

SPACE: 724 - W/C (TOILET 2)

Floor - Tile - Field - Floor	Masterplan, Precious Ivory, Grip, 12" x 24" x 3/8", Porcelain Field Notes: Grout: Minimal Layout: Running Bond Remarks: Lead Time is 2-4 weeks.	18.72	21.53	× SQFT	\$4.15	\$89.34
Base - Tile - Field - Base	Masterplan, Precious Ivory, Grip, 12" x 24" x 3/8", Porcelain Field Notes: 14.5LF Quantity adjusted due to boxing of 13.56 SQFT per container. Remarks: Lead Time is 2-4 weeks.	7.07	8.13	× SQFT	\$4.15	\$33.74

NOTES:

THIS IS AN ESTIMATE. QUANTITIES TAKEN FROM PROVIDED PLAN SET DATED 10/3/2022 AND SOMMET BLANC TOWER C SPEC APPENDIX DATED 09/16/2022. A 15% WASTE FACTOR IS ADDED TO ALL TILE NET QUANTITIES. FREIGHT IS SUBJECT TO CHANGE BASED ON FINAL QUANTITY AND STOCK AVAILABILITY. FREIGHT WILL ALSO CHANGE BASED ON BULK SHIPPING.

FINISHES \$14,517.73

LABOR
SHIPPING \$2,690.00

SALES TAX \$1,313.87

PAYMENT TERMS:

The Deposit Invoice payment is REQUIRED before the goods are ORDERED. Full payment is REQUIRED before delivery.

TOTAL AMOUNT
REQUIRED DEPOSIT

\$18,521.60 \$9,260.80

REQUESTED DELIVERY DATE:

6/30/2023

The prices quoted on your estimate or sales order have been calculated based on the current prices for the component materials. However, due to volatile markets and imposition of tariffs, taxes and assessments, sudden price increases may occur. Earth Elements agrees to use its best efforts to obtain the lowest possible prices from available suppliers, but should there be an increase in prices of these specified materials that are purchased after execution of this agreement for 19471 - Aspen Group - Sommet Blanc - Tower C - Unit C702 - Type M, Aspen Group agree to pay the additional charge. Any claim by Earth Elements for payment of such an additional charge shall require written notice delivered to you stating the additional charge, the material or materials in question, and the source of supply, supported by invoices or bills of sale.

ESTIMATE IS VALID FOR 30 DAYS.

Should you have any discrepancies or changes please contact your sales associate. Once you have confirmed the estimate as approved, a sales order will be emailed requesting your signature for approval, and required deposit terms. Orders cannot be placed until approval signature and deposit have been received.

6 out of 6

DIVISION: TILE

DATE: 10/26/2022

(VER 01)

PROJECT: 19470 - ASPEN GROUP - SOMMET **BLANC - TOWER C - UNIT C701 - TYPE N**

PROJECT ADDRESS PREPARED BY

Aspen Group 9300 Marsac Avenue Julia Chuang

Park City, UT 84060 julia.c@earthelements.com

ROOM: 705 - LAUNDRY

SPACE: 705 - LAUNDRY

CLIENT

FINISH AREA	MANUFACTURER	ITEM	NET	GROSS	UoM	PRICE	TOTAL
Floor - Tile - Field - Floor		Masterplan, Precious Ivory, Grip, 12" x 24" x 3/8", Porcelain Field Notes: Grout: Minimal Layout: Running Bond. Remarks: Lead time is 2-4 weeks.	65.11	74.88	× SQFT	\$4.15	\$310.74
SPACE: 705.1 - STC	DRAGE		-			•	•
Floor - Tile - Field - Floor		Masterplan, Precious Ivory, Grip, 12" x 24" x 3/8", Porcelain Field Notes: Grout: Minimal Layout: Running Bond. Remarks: Lead time is 2-4 weeks.	4.91	5.65	× SQFT	\$4.15	\$23.43

ROOM: 706 - POWDER ROOM

SPACE: 706 - POWDER ROOM

FINISH AREA	MANUFACTURER	ITEM	NET	GROSS	UoM	PRICE	TOTAL
Floor - Tile - Field - Floor		Masterplan, Precious Ivory, Grip, 12" x 24" x 3/8", Porcelain Field Notes: Grout: Minimal Layout: Running Bond Quantity adjusted due to boxing of 13.56 SQFT per container. Remarks: Lead time is 2-3 weeks.	45.07	54.24	× SQFT	\$4.15	\$225.10
Base - Tile - Field - Base		Masterplan, Precious Ivory, Grip, 12" x 24" x 3/8", Porcelain Field Notes: Grout: Minimal Layout: Running Bond 20 LF. Quantity adjusted due to boxing of 13.56 SQFT per container. Remarks: Lead time is 2-4 weeks.	10.24	13.56	× SQFT	\$4.15	\$56.27

SPACE: 706.1 - SHOWER

Floor - Tile - Field - Shower Pan	Masterplan, Precious Ivory, Grip, 12" x 24" x 3/8", Porcelain Field Notes: Grout: Minimal Layout: Running Bond Remarks: Lead time is 2-3 weeks.	14.71	16.92	x SQFT	\$4.15	\$70.20
Wall - WEST - Tile - Field - West Wall	Forte, Beige Gobi, Matte, 3 1/2" x 14 1/2" x 3/8", Porcelain Field Notes: Grout: Minimal Layout: Vertical Stack Remarks: Lead time is 13-15 weeks.	33.75	38.81	x SQFT	\$7.32	\$284.11
Wall - SOUTH - Tile - Field - South Wall	Forte, Beige Gobi, Matte, 3 1/2" x 14 1/2" x 3/8", Porcelain Field Notes: Grout: Minimal Layout: Vertical Stack Remarks: Lead time is 13-15 weeks.	37.94	43.63	x SQFT	\$7.32	\$319.38
Wall - NORTH - Tile - Field - North Wall	Forte, Beige Gobi, Matte, 3 1/2" x 14 1/2" x 3/8", Porcelain Field Notes: Grout: Minimal Layout: Vertical Stack	39.15	45.02	× SQFT	\$7.32	\$329.56

PCTILE-50965

(VER 01)

		Remarks: Lead time is 13-15 weeks.					
	GUEST BATHRO	` ,	•				
FINISH AREA	MANUFACTURER	ITEM	NET	GROSS	UoM	PRICE	TOTAL
Floor - Tile - Field - Floor		Bosphorus, Honed, 12" x 24" x 3/8", Limestone Field Notes: Grout: Minimal Layout: Running Bond Remarks: Lead time is 2-3 weeks.	88.6	101.89	x SQFT	\$14.02	\$1,428.50
Wall - SOUTH - Tile - Field - Vanity Wall		Silver Travertine, Honed & Filled, V/C 12" x 24" x 3/8", Field Notes: Grout: Minimal Layout: Horizontal Stacked Remarks: Lead time is 8-9 weeks.	16.59	19.47	× SQFT	\$14.33	\$278.95
Wall - WEST - Tile - Field - Vanity Wall		Silver Travertine, Honed & Filled, V/C 12" x 24" x 3/8", Field Notes: Grout: Minimal Layout: Horizontal Stacked Remarks: Lead time is 8-9 weeks.	76.71	88.22	× SQFT	\$14.33	\$1,264.14
Base - Tile - Field - Base		Bosphorus, Honed, 12" x 24" x 3/8", Limestone Field Notes: Grout: Minimal Layout: Running Bond 17 LF. Quantity adjusted due to boxing of 10 SQFT per container. Remarks: Lead time is 2-3 weeks.	8.49	10	× SQFT	\$14.02	\$140.20
SPACE: 708.1 - SH	IOWER						
Floor - Tile - Field - Shower Pan		Bosphorus, Honed, 12" x 24" x 3/8", Limestone Field Notes: Grout: Minimal Layout: Running Bond Quantity adjusted due to boxing of 10 SQFT per container. Remarks: Lead time is 2-3 weeks.	22.5	30	x SQFT	\$14.02	\$420.60
Wall - SOUTH - Tile - Field - South Wall		Silver Travertine, Honed & Filled, V/C 12" x 24" x 3/8", Field Notes: Grout: Minimal Layout: Horizontal Stacked Remarks: Lead time is 8-9 weeks.	35.4	40.71	× SQFT	\$14.33	\$583.37
Wall - WEST - Tile - Field - West Wall		Silver Travertine, Honed & Filled, V/C 12" x 24" x 3/8", Field Notes: Grout: Minimal Layout: Horizontal Stacked Remarks: Lead time is 8-9 weeks.	58.3	67.04	x SQFT	\$14.33	\$960.75
Wall - EAST - Tile - Field - East Wall		Silver Travertine, Honed & Filled, V/C 12" x 24" x 3/8", Field Notes: Grout: Minimal Layout: Horizontal Stacked Quantity adjusted due to boxing of 2 SQFT per container. Remarks: Lead time is 8-9 weeks.	57.88	66.56	x SQFT	\$14.33	\$953.83
SPACE: 709 - W/C							
Floor - Tile - Field - Floor		Bosphorus, Honed, 12" x 24" x 3/8", Limestone Field Notes: Grout: Minimal Layout: Running Bond Remarks: Lead time is 2-3 weeks.	22.16	26.28	× SQFT	\$14.02	\$368.44
Base - Tile - Field - Base		Bosphorus, Honed, 12" x 24" x 3/8", Limestone Field Notes: Grout: Minimal Layout: Running Bond 16 LF. Quantity adjusted due to boxing of 10 SQFT per container. Remarks: Lead time is 2-3 weeks.	8.13	10	× SQFT	\$14.02	\$140.20

ROOM: 711 - GUEST BATHROOM (3)

SPACE: 711 - GUEST BATHROOM (3)

FINISH AREA	MANUFACTURER	ITEM	NET	GROSS	UoM	PRICE	TOTAL
Floor - Tile - Field - Floor		Masterplan, Precious Ivory, Grip, 12" x 24" x 3/8", Porcelain Field Notes: Grout: Minimal Layout: Running Bond Remarks: Lead time is 2-4 weeks.	70.89	81.52	× SQFT	\$4.15	\$338.32
Base - Tile - Field - Base		Masterplan, Precious Ivory, Grip, 12" x 24" x 3/8", Porcelain Field Notes: Grout: Minimal Layout: Running Bond 25 LF. Remarks: Lead time is 2-4 weeks.	12.2	14.03	× SQFT	\$4.15	\$58.22

SPACE: 711.1 - SHOWER

Floor - Tile - Field - Shower Pan	Masterplan, Precious Ivory, Grip, 12" x 24" x 3/8", Porcelain Field Notes: Grout: Minimal Layout: Running Bond Remarks: Lead time is 2-4 weeks.	19.09	21.95	× SQFT	\$4.15	\$91.11
Wall - EAST - Tile - Field - East Wall	Forte, Beige Gobi, Matte, 3 1/2" x 14 1/2" x 3/8", Porcelain Field Notes: Grout: Minimal Layout: Vertical Stack Remarks: Lead time is 13-15 weeks.	47.35	54.45	× SQFT	\$7.32	\$398.59
Wall - WEST - Tile - Field - West Wall	Forte, Beige Gobi, Matte, 3 1/2" x 14 1/2" x 3/8", Porcelain Field Notes: Grout: Minimal Layout: Vertical Stack Remarks: Lead time is 13-15 weeks.	47.14	54.21	× SQFT	\$7.32	\$396.82
Wall - NORTH - Tile - Field - North Wall	Forte, Beige Gobi, Matte, 3 1/2" x 14 1/2" x 3/8", Porcelain Field Notes: Grout: Minimal Layout: Vertical Stack Remarks: Lead time is 13-15 weeks.	37.49	43.11	× SQFT	\$7.32	\$315.59

SPACE: 712 - W/C

Floor - Tile - Field - Floor	Masterplan, Precious Ivory, Grip, 12" x 24" x 3/8", Porcelain Field Notes: Grout: Minimal Layout: Running Bond Remarks: Lead time is 2-4 weeks.	17.95	20.64	x SQFT	\$4.15	\$85.67
Base - Tile - Field - Base	Masterplan, Precious Ivory, Grip, 12" x 24" x 3/8", Porcelain Field Notes: Grout: Minimal Layout: Running Bond 15 LF. Remarks: Lead time is 2-4 weeks.	7.14	8.21	× SQFT	\$4.15	\$34.08

ROOM: 718 - GUEST BATHROOM (4)

SPACE: 718 - GUEST BATHROOM (4)

FINISH AREA	MANUFACTURER	ITEM	NET	GROSS	UoM	PRICE	TOTAL
Floor - Tile - Field - Floor		Masterplan, Precious Ivory, Grip, 12" x 24" x 3/8", Porcelain Field Notes: Grout: Minimal Layout: Running Bond Quantity adjusted due to boxing of 13.56 SQFT per container. Remarks: Lead time is 2-4 weeks.	70.38	81.36	× SQFT	\$4.15	\$337.64
Base - Tile - Field - Base		Masterplan, Precious Ivory, Grip, 12" x 24" x 3/8", Porcelain Field Notes: Grout: Minimal Layout: Running Bond 24 LF. Remarks: Lead time is 2-4 weeks.	12.18	14.01	× SQFT	\$4.15	\$58.13

PCTILE-50965

(VER 01)

SPACE: 717 - W/C							
Floor - Tile - Field - Floor		Masterplan, Precious Ivory, Grip, 12" x 24" x 3/8", Porcelain Field Notes: Grout: Minimal Layout: Running Bond Remarks: Lead time is 2-4 weeks.	18.5	21.28	× SQFT	\$4.15	\$88.29
Base - Tile - Field - Base		Masterplan, Precious Ivory, Grip, 12" x 24" x 3/8", Porcelain Field Notes: Grout: Minimal Layout: Running Bond 14 LF. Remarks: Lead time is 2-4 weeks.	7.14	8.21	× SQFT	\$4.15	\$34.08
SPACE: 718.1 - SH	HOWER						
Floor - Tile - Field - Shower Pan		Masterplan, Precious Ivory, Grip, 12" x 24" x 3/8", Porcelain Field Notes: Grout: Minimal Layout: Running Bond Remarks: Lead time is 2-4 weeks.	19.55	22.48	× SQFT	\$4.15	\$93.30
Wall - WEST - Tile - Field - West Wall		Forte, Beige Gobi, Matte, 3 1/2" x 14 1/2" x 3/8", Porcelain Field Notes: Grout: Minimal Layout: Vertical Stack Remarks: Lead time is 13-15 weeks.	47.14	54.21	× SQFT	\$7.32	\$396.82
Wall - EAST - Tile - Field - East Wall		Forte, Beige Gobi, Matte, 3 1/2" x 14 1/2" x 3/8", Porcelain Field Notes: Grout: Minimal Layout: Vertical Stack Remarks: Lead time is 13-15 weeks.	47.35	54.88	× SQFT	\$7.32	\$401.72
Wall - NORTH - Tile - Field - North Wall		Forte, Beige Gobi, Matte, 3 1/2" x 14 1/2" x 3/8", Porcelain Field Notes: Grout: Minimal Layout: Vertical Stack Remarks: Lead time is 13-15 weeks.	37.49	43.11	× SQFT	\$7.32	\$315.59
	SUEST BATHROEST BATHROOM (5)	` ,	NET	GROSS	UoM	PRICE	TOTAL
Floor - Tile - Field - Floor		Masterplan, Precious Ivory, Grip, 12" x 24" x 3/8", Porcelain Field Notes: Grout: Minimal Layout: Running Bond Remarks: Lead time is 2-4 weeks.	32.05	36.86	× SQFT	\$4.15	\$152.96
Base - Tile - Field - Base		Masterplan, Precious Ivory, Grip, 12" x 24" x 3/8", Porcelain Field Notes: Grout: Minimal Layout: Running Bond 19 LF. Remarks: Lead time is 2-4 weeks.	9.18	10.62	× SQFT	\$4.15	\$44.08
SPACE: 719.1 - W	/C						
		Masterplan, Precious Ivory, Grip, 12" x 24" x 3/8", Porcelain Field	21.37		× SQFT	1	

Floor - Tile - Field - Floor	Masterplan, Precious Ivory, Grip, 12" x 24" x 3/8", Porcelain Field Notes: Grout: Minimal Layout: Running Bond	21.37	27.12	x SQFT	\$4.15	\$112.55
	Quantity adjusted due to boxing of 13.56 SQFT per container. Remarks: Lead time is 2-4 weeks.					
Base - Tile - Field - Base	Masterplan, Precious Ivory, Grip, 12" x 24" x 3/8", Porcelain Field Notes: Grout: Minimal Layout: Running Bond 12 LF. Remarks: Lead time is 2-4 weeks.	5.9	6.78	x SQFT	\$4.15	\$28.16

SPACE: 719.2 - SHOWER

Floor - Tile - Field -	Masterplan, Precious Ivory, Grip, 12" x 24" x 3/8", Porcelain Field	11.62	13.56	× SQFT	\$4.15	\$56.27	
Shower Pan	Notes:					İ	ı

PCTILE-50965 (VER 01)

Floor - Tile - Field - Floor		Masterplan, Precious Ivory, Grip, 12" x 24" x 3/8", Porcelain Field Notes: Grout: Minimal Layout: Running Bond	64.62	74.31	× SQFT	\$4.15	\$308.40
FINISH AREA	MANUFACTURER	ITEM	NET	GROSS	UoM	PRICE	TOTAL
SPACE: 724 - GUE	ST BATHROOM (2)						•
ROOM: 724 - G	SUEST BATHRO	OM (2)					
		Remarks: Lead time is 13-15 weeks.					
Wall - EAST - Tile - Field - East Wall		Forte, Beige Gobi, Matte, 3 1/2" x 14 1/2" x 3/8", Porcelain Field Notes: Grout: Minimal Layout: Vertical Stack	28.51	32.79	× SQFT	\$7.32	\$240.00
ricia - Godin Wan		Grout: Minimal Layout: Vertical Stack Remarks: Lead time is 13-15 weeks.					
Wall - SOUTH - Tile - Field - South Wall		Forte, Beige Gobi, Matte, 3 1/2" x 14 1/2" x 3/8", Porcelain Field Notes:	33.62	38.66	× SQFT	\$7.32	\$283.01
Wall - WEST - Tile - Field - West Wall		Forte, Beige Gobi, Matte, 3 1/2" x 14 1/2" x 3/8", Porcelain Field Notes: Grout: Minimal Layout: Vertical Stack Remarks: Lead time is 13-15 weeks.	28.51	32.79	× SQFT	\$7.32	\$240.00
		Grout: Minimal Layout: Running Bond Quantity adjusted due to boxing of 13.56 SQFT per container. Remarks: Lead time is 2-4 weeks.					

Floor	Notes: Grout: Minimal Layout: Running Bond Remarks: Lead time is 2-4 weeks.					
Base - Tile - Field - Base	Masterplan, Precious Ivory, Grip, 12" x 24" x 3/8", Porcelain Field Notes: Grout: Minimal Layout: Running Bond 21 LF. Quantity adjusted due to boxing of 13.56 SQFT per container. Remarks: Lead time is 2-4 weeks.	10.26	13.56	× SQFT	\$4.15	\$56.27

SPA	\sim r.	700	١	A / /	$\overline{}$
.>PA	· . —	1 /	- 1	/ \/ / \	

Floor - Tile - Field - Floor	Masterplan, Precious Ivory, Grip, 12" x 24" x 3/8", Porcelain Field Notes: Grout: Minimal Layout: Running Bond Remarks: Lead time is 2-4 weeks.	18.13	20.85	x SQFT	\$4.15	\$86.53
Base - Tile - Field - Base	Masterplan, Precious Ivory, Grip, 12" x 24" x 3/8", Porcelain Field Notes: Grout: Minimal Layout: Running Bond 15 LF. Remarks: Lead time is 2-4 weeks.	7.11	8.18	x SQFT	\$4.15	\$33.93

SPACE: 724.1 - SHOWER

Floor - Tile - Field - Shower Pan	Masterplan, Precious Ivory, Grip, 12" x 24" x 3/8", Porcelain Field Notes: Grout: Minimal Layout: Running Bond Quantity adjusted due to boxing of 13.56 SQFT per container. Remarks: Lead time is 2-4 weeks.	18.07	20.78	x SQFT	\$4.15	\$86.24
Wall - WEST - Tile - Field - West Wall	Forte, Beige Gobi, Matte, 3 1/2" x 14 1/2" x 3/8", Porcelain Field Notes: Grout: Minimal Layout: Vertical Stack Remarks: Lead time is 13-15 weeks.	47.32	54.42	x SQFT	\$7.32	\$398.34
Wall - EAST - Tile - Field - East Wall	Forte, Beige Gobi, Matte, 3 1/2" x 14 1/2" x 3/8", Porcelain Field Notes: Grout: Minimal Layout: Vertical Stack Remarks: Lead time is 13-15 weeks.	48.21	55.44	x SQFT	\$7.32	\$405.83
Wall - NORTH - Tile -	Forte, Beige Gobi, Matte, 3 1/2" x 14 1/2" x 3/8", Porcelain Field	34.38	39.54	× SQFT	\$7.32	\$289.41



PCTILE-50965

(VER 01)

Field - North Wall	Notes: Grout: Minimal Layout: Vertical Stack Quantity adjusted due to boxing of 6.92 SQFT per container. Remarks: Lead time is 13-15 weeks.				
--------------------	---	--	--	--	--

NOTES:

THIS IS AN ESTIMATE. QUANTITIES TAKEN FROM PROVIDED PLAN SET DATED 10/3/2022 AND SOMMET BLANC TOWER C SPEC APPENDIX DATED 09/16/2022. A 15% WASTE FACTOR IS ADDED TO ALL TILE NET QUANTITIES. FREIGHT IS SUBJECT TO CHANGE BASED ON FINAL QUANTITY AND STOCK AVAILABILITY. FREIGHT WILL ALSO CHANGE BASED ON BULK SHIPPING.

FINISHES \$14,423.72

LABOR
SHIPPING \$2,550.00

SALES TAX \$1,305.37

PAYMENT TERMS:

The Deposit Invoice payment is REQUIRED before the goods are ORDERED. Full payment is REQUIRED before delivery.

TOTAL AMOUNT
REQUIRED DEPOSIT

\$18,279.09 \$9,139.54

REQUESTED DELIVERY DATE:

6/30/2023

The prices quoted on your estimate or sales order have been calculated based on the current prices for the component materials. However, due to volatile markets and imposition of tariffs, taxes and assessments, sudden price increases may occur. Earth Elements agrees to use its best efforts to obtain the lowest possible prices from available suppliers, but should there be an increase in prices of these specified materials that are purchased after execution of this agreement for 19470 - Aspen Group - Sommet Blanc - Tower C - Unit C701 - Type N, Aspen Group agree to pay the additional charge. Any claim by Earth Elements for payment of such an additional charge shall require written notice delivered to you stating the additional charge, the material or materials in question, and the source of supply, supported by invoices or bills of sale.

ESTIMATE IS VALID FOR 30 DAYS.

Should you have any discrepancies or changes please contact your sales associate. Once you have confirmed the estimate as approved, a sales order will be emailed requesting your signature for approval, and required deposit terms. Orders cannot be placed until approval signature and deposit have been received.

6 out of 6

DIVISION: TILE

DATE: 10/26/2022

PROJECT ADDRESS

PROJECT: 19472 - ASPEN GROUP - SOMMET BLANC - TOWER C - UNIT C801 - TYPE O

PREPARED BY

Aspen Group 9300 Marsac Avenue

9300 Marsac Avenue Julia Chuang

Park City, UT 84060 julia.c@earthelements.com

ROOM: 805 - LAUNDRY

SPACE: 805 - LAUNDRY

CLIENT

FINISH AREA	MANUFACTURER	ITEM	NET	GROSS	UoM	PRICE	TOTAL	
Floor - Tile - Field - Floor		Masterplan, Precious Ivory, Grip, 12" x 24" x 3/8", Porcelain Field Notes: Grout: Minimal Layout: Running Bond Remarks: Lead time is 2-4 weeks.	87.37	100.48	× SQFT	\$4.15	\$416.97	

ROOM: 808 - GUEST BATHROOM (5)

SPACE: 808 - GUEST BATHROOM (5)

FINISH AREA	MANUFACTURER	ITEM	NET	GROSS	UoM	PRICE	TOTAL
Floor - Tile - Field - Floor		Masterplan, Precious Ivory, Grip, 12" x 24" x 3/8", Porcelain Field Notes: Grout: Minimal Layout: Running Bond Remarks: Lead time is 2-4 weeks.	72.65	83.55	× SQFT	\$4.15	\$346.72
Base - Tile - Field - Base		Masterplan, Precious Ivory, Grip, 12" x 24" x 3/8", Porcelain Field Notes: Grout: Minimal Layout: Running Bond 21 LF. Remarks: Lead time is 2-4 weeks.	10.38	11.94	× SQFT	\$4.15	\$49.54

SPACE: 807 - W/C (TOILET 5)

Floor - Tile - Field - Floor	Masterplan, Precious Ivory, Grip, 12" x 24" x 3/8", Porcelain Field Notes: Grout: Minimal Layout: Running Bond Remarks: Lead time is 2-4 weeks.	18.07	20.78	× SQFT	\$4.15	\$86.24
Base - Tile - Field - Base	Masterplan, Precious Ivory, Grip, 12" x 24" x 3/8", Porcelain Field Notes: Grout: Minimal Layout: Running Bond 14 LF. Remarks: Lead time is 2-4 weeks.	6.95	7.99	× SQFT	\$4.15	\$33.17

SPACE: 808.1 - SHOWER

Floor - Tile - Field - Shower Pan	Masterplan, Precious Ivory, Grip, 12" x 24" x 3/8", Porcelain Field Notes: Grout: Minimal Layout: Running Bond Remarks: Lead time is 2-4 weeks.	20.14	23.16	x SQFT	\$4.15	\$96.12
Wall - SOUTH - Tile - Field - South Wall	Forte, Beige Gobi, Matte, 3 1/2" x 14 1/2" x 3/8", Porcelain Field Notes: Grout: Minimal Layout: Vertical Stack Remarks: Lead time is 13-15 weeks.	38.15	43.87	x SQFT	\$7.32	\$321.15
Wall - EAST - Tile - Field - East Wall	Forte, Beige Gobi, Matte, 3 1/2" x 14 1/2" x 3/8", Porcelain Field Notes: Grout: Minimal Layout: Vertical Stack Quantity adjusted due to boxing of 6.92 SQFT per container. Remarks:	46.78	55.36	x SQFT	\$7.32	\$405.24

PCTILE-51010

(VER 01)

	Lead time is 13-15 weeks.					
Wall - WEST - Tile - Field - West Wall	Forte, Beige Gobi, Matte, 3 1/2" x 14 1/2" x 3/8", Porcelain Field Notes: Grout: Minimal Layout: Vertical Stack Remarks: Lead time is 13-15 weeks.	46.4	53.36	× SQFT	\$7.32	\$390.60

ROOM: 814 - GUEST BATHROOM (4)

SPACE: 814 - GUEST BATHROOM (4)

FINISH AREA	MANUFACTURER	ITEM	NET	GROSS	UoM	PRICE	TOTAL
Floor - Tile - Field - Floor		Masterplan, Precious Ivory, Grip, 12" x 24" x 3/8", Porcelain Field Notes: Grout: Minimal Layout: Running Bond Remarks: Lead time is 2-4 weeks.	43.98	50.58	× SQFT	\$4.15	\$209.89
Base - Tile - Field - Base		Masterplan, Precious Ivory, Grip, 12" x 24" x 3/8", Porcelain Field Notes: Grout: Minimal Layout: Running Bond 21 LF. Remarks: Lead time is 2-4 weeks.	10.58	12.66	× SQFT	\$4.15	\$52.53

SPACE: 813 - W/C (TOILET 4)

Floor - Tile - Field - Floor	Masterplan, Precious Ivory, Grip, 12" x 24" x 3/8", Porcelain Field Notes: Grout: Minimal Layout: Running Bond Remarks: Lead time is 2-4 weeks.	26.24	30.18	x SQFT	\$4.15	\$125.23
Base - Tile - Field - Base	Masterplan, Precious Ivory, Grip, 12" x 24" x 3/8", Porcelain Field Notes: Grout: Minimal Layout: Running Bond 13 LF. Remarks: Lead time is 2-4 weeks.	6.16	7.08	x SQFT	\$4.15	\$29.40

SPACE: 814.1 - SHOWER

Floor - Tile - Field - Shower Pan	Masterplan, Precious Ivory, Grip, 12" x 24" x 3/8", Porcelain Field Notes: Grout: Minimal Layout: Running Bond Remarks: Lead time is 2-4 weeks.	16.46	18.93	x SQFT	\$4.15	\$78.56
Wall - NORTH - Tile - Field - North Wall	Forte, Beige Gobi, Matte, 3 1/2" x 14 1/2" x 3/8", Porcelain Field Notes: Grout: Minimal Layout: Vertical Stack Remarks: Lead time is 13-15 weeks.	55.61	63.95	x SQFT	\$7.32	\$468.12
Wall - WEST - Tile - Field - West Wall	Forte, Beige Gobi, Matte, 3 1/2" x 14 1/2" x 3/8", Porcelain Field Notes: Grout: Minimal Layout: Vertical Stack Remarks: Lead time is 13-15 weeks.	67.33	77.43	x SQFT	\$7.32	\$566.78
Wall - EAST - Tile - Field - East Wall	Forte, Beige Gobi, Matte, 3 1/2" x 14 1/2" x 3/8", Porcelain Field Notes: Grout: Minimal Layout: Vertical Stack Remarks: Lead time is 13-15 weeks.	52.2	60.03	× SQFT	\$7.32	\$439.42

ROOM: 815 - GUEST BATHROOM (3)

SPACE: 815 - GUEST BATHROOM (3)

FINISH AREA	MANUFACTURER	ITEM	NET	GROSS	UoM	PRICE	TOTAL
Floor - Tile - Field - Floor		Masterplan, Precious Ivory, Grip, 12" x 24" x 3/8", Porcelain Field Notes: Grout: Minimal Layout: Running Bond	71.44	82.16	× SQFT	\$4.15	\$340.95

Floor - Tile - Field -

Base - Tile - Field -

Floor

SALES ORDER ESTIMATE

PCTILE-51010

(VER 01)

		Remarks: Lead time is 2-4 weeks.					
Base - Tile - Field - Base		Masterplan, Precious Ivory, Grip, 12" x 24" x 3/8", Porcelain Field Notes: Grout: Minimal Layout: Running Bond 25 LF. Remarks: Lead time is 2-4 weeks.	12.26	14.1	× SQFT	\$4.15	\$58.51
SPACE: 815.1 - SHC	WER						
Floor - Tile - Field - Shower Pan		Masterplan, Precious Ivory, Grip, 12" x 24" x 3/8", Porcelain Field Notes: Grout: Minimal Layout: Running Bond Remarks: Lead time is 2-4 weeks.	21.09	24.25	× SQFT	\$4.15	\$100.65
Wall - SOUTH - Tile - Field - South Wall		Forte, Beige Gobi, Matte, 3 1/2" x 14 1/2" x 3/8", Porcelain Field Notes: Grout: Minimal Layout: Vertical Stack Remarks: Lead time is 13-15 weeks.	39.76	45.72	× SQFT	\$7.32	\$334.70
Wall - WEST - Tile - Field - West Wall		Forte, Beige Gobi, Matte, 3 1/2" x 14 1/2" x 3/8", Porcelain Field Notes: Grout: Minimal Layout: Vertical Stack Quantity adjusted due to boxing of 6.92 SQFT per container. Remarks: Lead time is 13-15 weeks.	40.91	48.44	× SQFT	\$7.32	\$354.58
Wall - EAST - Tile - Field - East Wall		Forte, Beige Gobi, Matte, 3 1/2" x 14 1/2" x 3/8", Porcelain Field Notes: Grout: Minimal Layout: Vertical Stack Remarks: Lead time is 13-15 weeks.	48.69	55.99	× SQFT	\$7.32	\$409.87
SPACE: 816 - W/C (TOILET 3)					<u> </u>	
Floor - Tile - Field - Floor		Masterplan, Precious Ivory, Grip, 12" x 24" x 3/8", Porcelain Field Notes: Grout: Minimal Layout: Running Bond Remarks: Lead time is 2-4 weeks.	18.46	21.23	× SQFT	\$4.15	\$88.10
Base - Tile - Field - Base		Masterplan, Precious Ivory, Grip, 12" x 24" x 3/8", Porcelain Field Notes: Grout: Minimal Layout: Running Bond 14 LF. Remarks: Lead time is 2-4 weeks.	7.08	8.14	× SQFT	\$4.15	\$33.79
ROOM: 822 - GU SPACE: 822 - GUES		OM (2)					
FINISH AREA	MANUFACTURER	ITEM	NET	GROSS	UoM	PRICE	TOTAL
Floor - Tile - Field - Floor		Masterplan, Precious Ivory, Grip, 12" x 24" x 3/8", Porcelain Field Notes: Grout: Minimal Layout: Running Bond Remarks: Lead time is 2-4 weeks.	72.15	82.97	× SQFT	\$4.15	\$344.34
Base - Tile - Field - Base		Masterplan, Precious Ivory, Grip, 12" x 24" x 3/8", Porcelain Field Notes: Grout: Minimal Layout: Running Bond 25 LF. Remarks: Lead time is 2-4 weeks.	12.41	14.27	× SQFT	\$4.15	\$59.23
SPACE: 821 - W/C (TOILET 2)						

\$90.53

\$33.88

× SQFT

× SQFT

\$4.15

\$4.15

21.82

18.97

Masterplan, Precious Ivory, Grip, 12" x 24" x 3/8", Porcelain Field

Masterplan, Precious Ivory, Grip, 12" x 24" x 3/8", Porcelain Field

Notes:

Remarks:

Lead time is 2-4 weeks.

Grout: Minimal Layout: Running Bond

PCTILE-51010

(VER 01)

Base	Notes: Grout: Minimal Layout: Running Bond 15 LF. Remarks: Lead time is 2-4 weeks.					
SPACE: 822.1 - SHOWER						
Floor - Tile - Field - Shower Pan	Masterplan, Precious Ivory, Grip, 12" x 24" x 3/8", Porcelain Field Notes: Grout: Minimal Layout: Running Bond Remarks: Lead time is 2-4 weeks.	19.7	22.66	× SQFT	\$4.15	\$94.02
Wall - SOUTH - Tile - Field - South Wall	Forte, Beige Gobi, Matte, 3 1/2" x 14 1/2" x 3/8", Porcelain Field Notes: Grout: Minimal Layout: Vertical Stack Remarks: Lead time is 13-15 weeks.	38.8	44.62	x SQFT	\$7.32	\$326.62
Wall - WEST - Tile - Field - West Wall	Forte, Beige Gobi, Matte, 3 1/2" x 14 1/2" x 3/8", Porcelain Field Notes: Grout: Minimal Layout: Vertical Stack Remarks: Lead time is 13-15 weeks.	46.72	53.73	x SQFT	\$7.32	\$393.29
Wall - EAST - Tile - Field - East Wall	Forte, Beige Gobi, Matte, 3 1/2" x 14 1/2" x 3/8", Porcelain Field Notes: Grout: Minimal Layout: Vertical Stack Quantity adjusted due to boxing of 6.92 SQFT per container. Remarks: Lead time is 13-15 weeks.	46.74	54.89	× SQFT	\$7.32	\$401.80

ROOM: 823 - MASTER BATHROOM (1)

SPACE: 823 - MASTER BATHROOM (1)

FINISH AREA	MANUFACTURER	ITEM	NET	GROSS	UoM	PRICE	TOTAL
Floor - Tile - Field - Floor		Bosphorus, Honed, 12" x 24" x 3/8", Limestone Field Notes: Grout: Minimal Layout: Running Bond Remarks: Lead time is 2-3 weeks.	100.03	115.03	× SQFT	\$14.02	\$1,612.78
Wall - Tile - Field - South Tub Wall		Silver Travertine, Honed & Filled, V/C 12" x 24" x 3/8", Field Notes: Grout: Minimal Layout: Horizontal Stacked Quantity adjusted due to boxing of 2 SQFT per container. Remarks: Qty. includes Window recess. Lead time is 8-9 weeks.	37.59	44	× SQFT	\$14.33	\$630.52
Wall - Tile - Field - East Vanity Wall		Silver Travertine, Honed & Filled, V/C 12" x 24" x 3/8", Field Notes: Grout: Minimal Layout: Horizontal Stacked Remarks: Lead time is 8-9 weeks.	128.79	148.11	× SQFT	\$14.33	\$2,122.39
Base - Tile - Field - Base		Bosphorus, Honed, 12" x 24" x 3/8", Limestone Field Notes: Grout: Minimal Layout: Running Bond 9 LF. Remarks: Lead time is 2-3 weeks.	4.34	4.99	× SQFT	\$14.02	\$69.97

SPACE: 823.1 - SHOWER

Floor - Tile - Field - Shower Pan	Bosphorus, Honed, 12" x 24" x 3/8", Limestone Field Notes: Grout: Minimal Layout: Running Bond Quantity adjusted due to boxing of 10 SQFT per container. Remarks: Lead time is 2-3 weeks.	22.08	29.97	× SQFT	\$14.02	\$420.24
Wall - Tile - Field - South Wall	Silver Travertine, Honed & Filled, V/C 12" x 24" x 3/8", Field Notes: Grout: Minimal Layout: Horizontal Stacked Remarks: Lead time is 8-9 weeks.	26.8	31.16	× SQFT	\$14.33	\$446.50

PCTILE-51010 (VER 01)

Wall - SOUTH - Tile - Field - West Wall	Silver Travertine, Honed & Filled, V/C 12" x 24" x 3/8", Field Notes: Grout: Minimal Layout: Horizontal Stacked Quantity adjusted due to boxing of 2 SQFT per container. Remarks: Lead time is 8-9 weeks.	64.07	74	× SQFT	\$14.33	\$1,060.42
Wall - Tile - Field - North Wall	Silver Travertine, Honed & Filled, V/C 12" x 24" x 3/8", Field Notes: Grout: Minimal Layout: Horizontal Stacked Quantity adjusted due to boxing of 2 SQFT per container. Remarks: Lead time is 8-9 weeks.	35.42	40.73	× SQFT	\$14.33	\$583.70
SPACE: 824 - W/C (TOILET	1)					
Floor - Tile - Field - Floor	Bosphorus, Honed, 12" x 24" x 3/8", Limestone Field Notes: Grout: Minimal Layout: Running Bond Quantity adjusted due to boxing of 10 SQFT per container. Remarks: Lead time is 2-3 weeks.	23.46	30	x SQFT	\$14.02	\$420.60
Base - Tile - Field - Base	Bosphorus, Honed, 12" x 24" x 3/8", Limestone Field Notes: Grout: Minimal Layout: Running Bond 17 LF. Quantity adjusted due to boxing of 10 SQFT per container. Remarks: Lead time is 2-3 weeks.	8.38	10	x SQFT	\$14.02	\$140.20

ROOM: 828 - POWDER ROOM

SPACE: 828 - POWDER ROOM

	FINISH AREA	MANUFACTURER	ITEM	NET	GROSS	UoM	PRICE	TOTAL	
- 1	Floor - Tile - Field - Floor		Masterplan, Precious Ivory, Grip, 12" x 24" x 3/8", Porcelain Field Notes: Grout: Minimal Layout: Running Bond Quantity adjusted due to boxing of 13.56 SQFT per container. Remarks: Lead time is 2-3 weeks.	33.08	38.04	× SQFT	\$4.15	\$157.87	

NOTES:

THIS IS AN ESTIMATE. QUANTITIES TAKEN FROM PROVIDED PLAN SET DATED 10/3/2022 AND SOMMET BLANC TOWER C SPEC APPENDIX DATED 09/16/2022. A 15% WASTE FACTOR IS ADDED TO ALL TILE NET QUANTITIES. FREIGHT IS SUBJECT TO CHANGE BASED ON FINAL QUANTITY AND STOCK AVAILABILITY. FREIGHT WILL ALSO CHANGE BASED ON BULK SHIPPING.

FINISHES LABOR

SHIPPING

SALES TAX

\$2,625.00

\$15,245.73

\$1,379.73

PAYMENT TERMS:

The Deposit Invoice payment is REQUIRED before the goods are ORDERED. Full payment is REQUIRED before delivery.

TOTAL AMOUNT

REQUIRED DEPOSIT

\$19,250.46 \$9,625.23

REQUESTED DELIVERY DATE:

6/30/2023

The prices quoted on your estimate or sales order have been calculated based on the current prices for the component materials. However, due to volatile markets and imposition of tariffs, taxes and assessments, sudden price increases may occur. Earth Elements agrees to use its best efforts to obtain the lowest possible prices from available suppliers, but should there be an increase in prices of these specified materials that are purchased after



PCTILE-51010

(VER 01)

execution of this agreement for 19472 - Aspen Group - Sommet Blanc - Tower C - Unit C801 - Type O, Aspen Group agree to pay the additional charge. Any claim by Earth Elements for payment of such an additional charge shall require written notice delivered to you stating the additional charge, the material or materials in question, and the source of supply, supported by invoices or bills of sale.

ESTIMATE IS VALID FOR 30 DAYS.

Should you have any discrepancies or changes please contact your sales associate. Once you have confirmed the estimate as approved, a sales order will be emailed requesting your signature for approval, and required deposit terms. Orders cannot be placed until approval signature and deposit have been received.

6 out of 6

PROJECT: 19457 - ASPEN GROUP - SOMMET BLANC - TOWER C - UNIT C22 - TYPE R (1-BED EHU) DIVISION: TILE DATE: 10/25/2022

CLIENT PROJECT ADDRESS PREPARED BY

Aspen Group 9300 Marsac Avenue Julia Chuang

Park City, UT 84060 julia.c@earthelements.com

ROOM: R.14 - GUEST BATHROOM

SPACE: R.14 - GUEST BATHROOM

FINISH AREA	MANUFACTURER	ITEM	NET	GROSS	UoM	PRICE	TOTAL
Floor - Tile - Field - Floor		Masterplan, Precious Ivory, Grip, 12" x 24" x 3/8", Porcelain Field Notes: Grout: Minimal Layout: Running Bond Quantity adjusted due to boxing of 13.56 SQFT per container. Remarks: Lead time is 2-4 weeks.	39.63	54.24	× SQFT	\$4.15	\$225.10
Base - Tile - Field - Base		Masterplan, Precious Ivory, Grip, 12" x 24" x 3/8", Porcelain Field Notes: Grout: Minimal Layout: Running Bond 20 LF. Installer to rip to 6" Base. Quantity adjusted due to boxing of 13.56 SQFT per container. Remarks: Lead time is 2-4 weeks.	10.03	13.56	× SQFT	\$4.15	\$56.27

SPACE: R14.1 - SHOWER (TUB)

Wall - NORTH - Tile - Field - North Tub Wall	Forte, Beige Gobi, Matte, 3 1/2" x 14 1/2" x 3/8", Porcelain Field Notes: Grout: Minimal Layout: Vertical Stack Remarks: Lead time is 13-15 weeks.	19.47	22.39	x SQFT	\$7.32	\$163.90
Wall - WEST - Tile - Field - West Tub Wall	Forte, Beige Gobi, Matte, 3 1/2" x 14 1/2" x 3/8", Porcelain Field Notes: Grout: Minimal Layout: Vertical Stack Quantity adjusted due to boxing of 6.92 SQFT per container. Remarks: Lead time is 13-15 weeks.	38.78	48.44	× SQFT	\$7.32	\$354.58
Wall - SOUTH - Tile - Field - South Tub Wall	Forte, Beige Gobi, Matte, 3 1/2" x 14 1/2" x 3/8", Porcelain Field Notes: Grout: Minimal Layout: Vertical Stack Remarks: Lead time is 13-15 weeks.	19.33	22.23	x SQFT	\$7.32	\$162.72



PCTILE-50898

(VER 01)

NOTES:

THIS IS AN ESTIMATE. QUANTITIES TAKEN FROM PROVIDED PLAN SET DATED 10/3/2022 AND SOMMET BLANC TOWER C SPEC APPENDIX DATED 09/16/2022. A 15% WASTE FACTOR IS ADDED TO ALL TILE NET QUANTITIES. FREIGHT IS SUBJECT TO CHANGE BASED ON FINAL QUANTITY AND STOCK AVAILABILITY. FREIGHT WILL ALSO CHANGE BASED ON BULK SHIPPING.

FINISHES

LABOR

SHIPPING

SALES TAX

\$962.57
-
\$385.00
\$87.11

PAYMENT TERMS:

The Deposit Invoice payment is REQUIRED before the goods are ORDERED. Full payment is REQUIRED before delivery.

TOTAL AMOUNT
REQUIRED DEPOSIT

\$1,434.68 \$717.34

REQUESTED DELIVERY DATE:

6/30/2023

The prices quoted on your estimate or sales order have been calculated based on the current prices for the component materials. However, due to volatile markets and imposition of tariffs, taxes and assessments, sudden price increases may occur. Earth Elements agrees to use its best efforts to obtain the lowest possible prices from available suppliers, but should there be an increase in prices of these specified materials that are purchased after execution of this agreement for 19457 - Aspen Group - Sommet Blanc - Tower C - Unit C22 - Type R (1-Bed EHU), Aspen Group agree to pay the additional charge. Any claim by Earth Elements for payment of such an additional charge shall require written notice delivered to you stating the additional charge, the material or materials in question, and the source of supply, supported by invoices or bills of sale.

ESTIMATE IS VALID FOR 30 DAYS.

Should you have any discrepancies or changes please contact your sales associate. Once you have confirmed the estimate as approved, a sales order will be emailed requesting your signature for approval, and required deposit terms. Orders cannot be placed until approval signature and deposit have been received.

2 out of 2